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ALLEN

SUBJECT : PHYSICS

Topic : Full Syllabus

L

SECTION-A
Attempt All 35 questions

1.

When a copper sphere is heated, maximum

percentage change will be observed in :

(1) Radius (2) Area

(3) Volume (4) None of these

A particle moves along x-axis in such a way
that its
according to equation x = 4 — 2t + t>. The speed

x-coordinates varies with time

of the particle will vary with time as :-

L/
3) 4 o L
7

0 t

A body is projected in such a way that the ratio
of potential energy and kinetic energy at the

highest point is 3. The angle of projection is :-

(1) 30° (2) 45° (3) 60° (4) 37°

In the given arrangement, the normal force

applied by block on the ground is :

F
o
M

(

qus-A
aeft 35 wr rfAar §

1.

S forelt 9T & Mt 0 T fRaT ST ®,
FATereRay gfaerd gierd= Sferd gem ;-

(1) Fream (2) &A%
(3) AT (4) TH QIS TE

T FT -3 & IR 39 e ¥ A & 6
3Gt x-fesTien T ¢ W e g x = 4 - 2t
+ 2 % STTER ARG & T 01 hT =1el aHT

e fore T o TR aREfdd ot @ e -
s VT
m 0 /g_)l

(}‘ a

(3)V 4) ()L// t
@ﬁ?vgaﬁwwlqéﬁﬁ%mw%%

Wﬁgwﬁwﬁaﬁﬁ T st St
STTATA 3 B JET0T 10T 2 -

(1) 30° (2) 45° (3) 60° (4) 37°
Y T e ° sdte g O WS

AT ST T -
F
o
M

(1) mg (2) mg - Fcosb (1) mg (2) mg— Fcosb
(3) mg + Fcosf (4) FcosH (3) mg + Fcosf (4) FcosH
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5.

A body (initially at rest) is falling under
gravity. When it loses a gravitational potential
energy by U, its speed is v. The mass of the
body shall be :

2U U
OH = @ 5

2U U
3) e ) Pl
A weightless thread can support tension upto 30 N.
A stone of mass 0.5 kg is tied to it and is revolved
in a circular path of radius 2m in a vertical plane. If
g =10 ms™, then the maximum angular velocity of

the stone will be :-

(1) 5rad/s (2) /30 radss

(3) V60 radss (4) 10 rad/s

A metal ball falls from a height of 32 metre on
a steel plate. If the coefficient of restitution is
0.5, to what height will the ball rise after

second bounce

() 2m (2) 4m (3) 8m (4) 16m

Three identical rods are joined together to form an
equilateral triangular frame. The axes AA', BB'

and CC' lie in the plane of the frame as shown.

T # formmeee # feud o e A &
Fefi T 1T 21 S gaeht el Reerferst st
U ht shHl €It © el 3eehl =1t v 2l 81 fiue =
S BT AR -

2U

U
1) —

U 2U
@ 5 6 ey 4 %)
T WIEIT 9T 30 g7 % & 419 %l €98
Al gl IEH TH 0.5 fRUT F gcAT A
argFT 2m Bsa % SeEtgr g9 § gArd &
gfg g = 10 #/@? B, I e H1 FAfyHaH

HIUfTT T B -
(1) 5deTA, (2) /30 e/
3) V60 Fe7m. 4) 103fETA.

T 4Tq %1 718 32 HieT 6l Helts o Frant e i
WIE ¥ TR ol Ale TAEeE uries (e
TUTIeh) 1 HT 0.5 B el GHL HoTg o6 92T 7ie fehd
TS T ISTT

() 2m (2 4m (3) 8m (4) 16m

A" TH FHE B F SgH OEHER TH
PSR SThfa st it 81 AA', BB' W& CC'
&7 3 qt | feerd 2, forad Bt 2 1 forer a1

The moment of inertia is least about the axis :- Ed 3] R ST Wﬁ Wjﬁ'ﬁ‘{ﬁ"ﬁ -
A A
(1) AA (1) AA
(2) BB (2) BB
(3) cC (3) cC
(4) Data insufficient (4) AfHg 31‘%13 H
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10.

11.

12.

ALLEN

If body is performing pure rolling then what
will be the velocity of point O :-

A 10 m/s
(1) 10m/s (2) S5m/s
(3) 7.5m/s (4) zero

If both the mass and the radius of the earth decrease by
1%, the value of the acceleration due to gravity will :-
(1) decrease by 1%

(2) increase by 1%

(3) increase by 2%

(4) remain unchanged

Two artificial satellites of masses m; and m,
are moving with speeds V, and V, in orbits of
radii r; and r, respectively. If r; > r, then which

of the following statements is true :-
() Vi=V,
(2) Vi>V,
(3) Vi<V,

Vi A%

@ nTn

An aeroplane of mass 3 x 10 kg and total wing
area of 120 m? is in a level flight at some
height. The difference in pressure between the
upper and lower surfaces of its wings in

kilopascals is (g=10m/s?)

9.

10.

11.

12.

3t fug 315wt i 2 @1 @ @t forg O o o
sn?raﬁﬁm:-

A

10 m/s
(1) 10 m/s (2) Sm/s
3) 7.5m/s (4) zero

Ifq qedt 1 FeAHE qAT BeA1 3T 1% weT
ST, T e @O 31 AT -
(1) 1% S ST
(2) 1% ¢ SR
(3) 2% ¢ SR
(4) STufiafda w&m
31 M ITE Sk FHH m, T m, § q°1 I
V, @7 V, 3T ¥ AT 1, I r, Gearedt @i
FETA A I @ & A 1, > r, 3 A F107 § & e
U HeF B :-
(1) Vi=V,
2 V>V,
(3) V<V,
Vi Vs
@ on

3 x 10* kg g9 1 A S dw@i
FA &ARA 120 m® T, FB FA3 W TH
afast a1 ¥ I W B 39S 9@ &k FUX T
Frereft gag & 7€ ST &1 919 fohell IrEehd
T B (g=10m/s?)

(1) 2.5 @) 5.0 (1) 2.5 2) 5.0
(3) 10.0 @) 12.5 (3) 10.0 @) 12.5
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ALLEN

13. A viscous fluid is flowing through a cylindrical 13. U W 59 SR Y150 & 31X Jaiied &l &l
tube. The velocity distribution of the fluid is 2?1 59 % ST ol Tl © Teiid foram ST Hehar 2
best represented by the diagram :-

—_—
—_— —_—
n — Hn —
R R
_— —
4*. l|
2 @ — 2 @ @—
ﬂ' ﬂ'
%}"’ %"cl
—)::" —):,'
3) @ — 3) @ —
Y “
(4) None of these 4) IS Tl

14. If 290 cal heat is supplied to a block of ice of | 14. I TH 10 TW I% &P A9 ~10°C B I,
mass 10 gm at —10°C then find out mass of 290 cal AT & Sl & dF g g S W
water obtained. 1 -

(1) 4gm (2) 10gm 3) 3gm (4) 2gm (1) 4gm (2) 10gm (3) 3gm (4) 2gm

15. Temperatures of two stars are in ratio 3 : 2. If 15, A AT S AT 3 : 2 F SREIE T gl Ak
wavelength of maximum radiation from first body g7 aiX ¥ Afywan fafeo Hi atnesd
is 4000 A, what is corresponding wavelength of 4000 A, @ E‘;H\I e i Gug qinesd # a4
second body? g2
(1) 9000 A (2) 6000 A (1) 9000 A (2) 6000 A
(3) 2000 A (4) 8000 A (3) 2000 A (4) 8000 A

16. Relation between the ratio of specific heats (y) | 16. & st falRT SIS T A (y) HR F&cFar
of gas and degree of freedom 'f' will be T I it TET £ T T 2
(1) y=f+2 (1) y=f+2

,l_1,1 s L_1.1

@ =713 @ 77772

2 2
f= ——— f= ——

3 f=-= =53

(4 £=2(y-1) (4 £=2(y-1)
| SAMPLE PAPER # 04 1001CMD302122004
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17.

18.

19.

20.

21.

ALLEN
17.

The rms velocity of a gas at a given temperature
is 300 m/s. What will be the rms velocity of a
gas having twice the molecular weight, half the

temperature and double the pressure ?

(1) 300 m/s (2) 75m/s

(3) 600 m/s (4) 150 m/s

A refrigerator works between temperature —10°C

and 27°C, the coefficient of performance is :

2) 1
(4) 15.47

(1) 7.1
(3) 8.1

For a simple pendulum the graph between its

length and time period will be :-
(1) ahyperbola

(2) aparabola

(3) acircle

(4) a straight line

Two tuning forks have frequencies 380 and 384
Hz respectively. When they are sounded
together, they produce 4 beats. After hearing
the maximum sound, how long will it take to

hear the minimum sound ?

(1) (1/2) s
(3) (1/8) s

2) (1/4)s
(4) (1/16) s
The frequency of a radar is 780 MHz. The frequency

of the reflected wave from an aeroplane is increased
by 2.6 kHz. The velocity of acroplane is :

(1) 0.25 km/sec
(2) 0.5 km/sec
(3) 1 km/sec
(4) 2 km/sec

18.

19.

20.

21.

forel! fod T A W w T A e =
300 m/s 81 30 1 % AT HT A ATEAA ATA
1 BNl TSTeshT SATOTfersh AT T, AT9 ST qen
<Te I E -
(1) 300 m/s (2) 75m/s

(3) 600 m/s (4) 150 m/s

T USHET —10°C 3R 27°C & HET H1 T T
2, T 70Tl TR R
(1) 7.1 2) 1
(3) 8.1 (4) 15.47

Teh 81 Al & [T L 97 T o HET UTH
BT ;-

(1) Tk Sl
(2). T e
(3) THT

(4) T &AW

380 TUT 384 & omafd anet & Tafea |
9 378 ey egfya fear swar 2, 99 9
4 fgwgse 3cu=g w19 T Afywaw eafy
g4 & ITUd, ~4AdH €qf gAd § fRar
qug dANM?

(1) (1/2) 9Fvs (2) (1/4) 9FvS
(3) (1/8) Uhvg 4) (1/16) =g

TF ©F H AEM 780 WM &S 3l AFAW &
qrEfda T S Saf 2.6 et &8st 5@ STt 2
AR HTATE :

(1) 0.25 km/sec
(2) 0.5 km/sec
(3) 1 km/sec
(4) 2 km/sec
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ALLEN

22.  Assume that an electric field ]§ — 30x21 exists in 22. A AW H Teh ﬁﬁ\lﬁ &7 E = 30x2i HIE]
space. Then the potential difference V, — Vg, IERCIEES V. - Vo, STet Vo ﬂ@ﬁ%’ W fore we
where Vy, is the potential at the origin and V, the Vy,x=2mm a2
potential at x =2 m is :-

(1) -80V (2) 80V (I) ~80V (2) 80V
(3) 120V (4) —120V (3) 120V 4) 120V

23.  What is the angle between an electric dipole moment 23. Th ﬁ?g?r ﬁ{%a i 3787 9T fera fopet 1%[3 T ﬁ%\l:cf
and the electric field strength due to it on its axial line? &1 1 TSI 3T feger HATEOT o HE ShI0T AT B2
(1) 0° (1) 0°
(2) 90° (2) 90°
(3) 180° (3) 180°
(4) None of the above 4) IUUE | IS Al

24. When an additional charge of 2C is given to a 24. <o forelt gerfer st 2C SAfafcs s fear ST 2
capacitor, energy stored in it is increased by 1 30 7 Hied Sl 21% &6 STt = ST
21%. The original charge of the capacitor is :- eIk AL -

(1) 30C (2) 40C (3) 10C (&) 20C (1) 30C (2) 40C (3) 10C (&) 20C

25. A 150 m long metal wire connects points A and 25. 150 m IS Ueh YTfeash dl 1%|-_§; AT B & "
B. The electric potential at point B is 50 V less E\ET%I %l-_g' B Wﬁgﬁﬁw 1%!'753' AT 50V diee
than that at point A. If the conductivity of the F 8l TR a1 I |TeTehdT (conductivity) 60 x
metal is 60 x 10° mho/m, then magnitude of the 10° mho/m, A AR H U g o GRHTOT SR JT
current density in the wire is equal to : BT -

(1) 11 x10*A/m*  (2) 5.5%x10° A/m? () 11 x10*A/m*> (2) 5.5x107° A/m?
(3) 4x10" A/m? (4) 20 x 10° A/m? (3) 4x10" A/m? (4) 20 x10° A/m?
26. Find the current in 3Q resistance in the circuit 26. T 30 giee o emy sarg
20 3Q 20 3Q
10V 10V
2 4 1 2 4 1
) =A () =A — 4 ) A () -A — 4
(1) 3A @ 3A () A @ zero (1) 3A @ 3A (@) A (@) zero
| SAMPLE PAPER # 04 1001CMD302122004
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27.

28.

29.

30.

ALLEN
27.

Out of the four bulbs of marking (i) 100 V, 40 W (ii)
200 V, 40 W (iii) 100 V, 60 W (iv) 200 V, 60 W,
which bulb has highest resistance?

H O @ @ @ (@) @ Gv)

A long thin hollow metallic cylinder of radius
‘R’ has a current i ampere. The magnetic

induction ‘B’ away from the axis at a distance r

from the axis varies as shown in

B B

(1) \ 2)

1~

A wire PQ carries a current 'i

is placed
perpendicular to a long wire XY carrying a

current 1. The direction of force on PQ will be:-
i
P i Q
_‘_

—f—
X

(1) towards right (2) towards left

(3) upwards (4) downwards

To made temporary magent, magnetic material
should have.

(1) High retentivity and high coercivity
(2) Low retentivity and high coercivity
(3) High retentivity and low coercivity

(4) Low retentivity and low coercivity

28.

29.

30.

IR Tl (i) 100 V, 40 W (ii) 200 V, 40 W (iii)
100 V, 60 W @ (iv) 200 V, 60 W ¥ & fe
ool T Tfaler SARFHaA B -

M O @ G @ () @ @Gv)

R T3 % T @, Uad, @iEe 1 % S | i
UfPde 9T YaTfed 81 et €1 36k 3181 ¥ r g W
TR ST B T § W TR TR % e
gfeafdad g

x=0 x=R

Teh <leish A PQ | | 9T YaTed & & & g&eh!
T vl FTeieh XY o oTraiad 1@ ST 8] a ai
T | 9T JaTfed & @ 2, a1 a8 PQ WX oA shi famm
Bt

i
P i Q
——
X
(1) rft 3R (2) @t AR
(3) U AR 4) H=rdfir AR

et Freh S & forg Jrerehir aered & g
;-
(1) 3= YROTHTAAT 3T oo fAmnfear

2) T amofarerar o == fanfar
(3) = YROTTeTaT 3R f famfean
(4) T amorfyrerar s e fonfear
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31.

32.

33.

34.

ALLEN
31.

Which statement is correct from following —

(a) Inductor store energy in the form of
magnetic field

(b) Capacitor store energy in the form of
electric field

(¢) Inductor store energy in the form of electric
and magnetic field both

(d) Capacitor store energy in the form of

electric and magnetic field both

(1) ab (2) a,c (3) b,d (@) b,c

The potential difference V and the current I
flowing through an instrument in an ac circuit
of frequency f are given by V = 5 cos wt volts
and I = 2 sin ot amperes (where ® = 2xf). The

power dissipated in the instrument is :-

(1) Zero (2) 10W (3) 5W (4) 25W

At every instant the ratio of the magnitude of
the electric field to the magnetic field for an

electromagnetic wave in vacuum is equal to
(1) The speed of radiowaves

(2) The speed of y-ray

(3) The speed of light

(4) All of the above

The figure shows a schematic diagram of a
defective eye. What is this defect called?

(1) Myopia (2) Hypermetropia

(3) Presbyopia (4) Astigmatism

32.

33.

34.

T g8 SHE FaTEcT © -

(a) YChed FrhT & FT W FHSl kT G
LT B

(b) "urfer foera & & &9 § F w1 €=
T Bl

(c) Wehca, forga & o Trarehla & Il &9 |
ST €= LT R

(d) demies foera & & qraehia & e ®9
Sl T T HT 2l

(1) ab () a,c  (3) b,d (4 b,c

f ogfy & fTF ac aftay § fret I3 &
Tq & "wex & fawarsar voqur a1
AW V = 5 cos ot volts 3T I = 2 sin
ot TRTIT & (T& @ = 2af) @ I3 & wke
FT AYSTT Bl T :-

() A (2) I0W (3) 5SW (4 25W
fatq # forelt forpa Sreshiar 0T o &0 W
TSI &0 o rrhid & o GRHTOT ST ST
7 o s BiaT -

(1) T aam Fr =ret & T

(2) v-ferten Y =reT & TR

(3) SRTST ST =TS o SITeR

(4) STk aeft

ot o e Rl A T g edd e FERi 2
38 7 T I e 2

1001CMD302122004
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ALLEN

35. A source of light is located at double focal
lengths from convergent lens. The focal length
of lens is f = 30 cm. At what distance from lens
should a plane mirror be placed so that the ray
reflected from mirror are parallel after passing

through lens for second time ?

(1) 60 cm (2) 30 cm
(3) 15cm (4) 45cm
( SECTION-B )

This section will have 15 questions. Candidate

can choose to attempt any 10 question out of

these 15 questions. In case if candidate attempts

more than 10 questions, first 10 attempted
L questions will be considered for marking.

J

36. Light travels in two media A and B with speed 1.8
x 10 ms™ and 2.4 x 10® ms™ respectively. Then

the critical angle between them is :-

(1) sin~! (%) (2) tan ! <%)
(3) tan ! (%) (4) sin~! (%)

37. In Young's double slit experiment we get 60 fringes
in the field of view of monochromatic light of
wavelength 4000A. If we use monochromatic light
of wavelength 6000A, then the number of fringes
obtained in the same field of view are :-

(1) 60 (2) 90 (3) 40 (4) 15

38. A light wave is incident normally over a slit of
width 24 x 10 cm. The angular position of

second dark fringe from the central maxima is

35. U WeRIT &Id Uk AN ofd & g Bl gl
o feud 81 | AT BrRE g £ = 30 cm B TH
GHAe U1 T o W fordl gl ot Tar S At
T ¥ et R i W gEd S e
AT & S|

(1) 60 cm (2) 30cm
(3) 15cm (4) 45cm
( TUe-B )

39 @ue o 15 I 81 vheneff 37 15 = ° ¥ @i
ot 10 w53 T Hehar 81 Ffe wemeff 10 ¥ 1w wx
T I 3T 2 A T oot G T 10 ¥ & W

Ll

- J

36. UHITHHES: 1.8 x 108ms' T 2.4 x 108 ms™' ¥
Tl O 7 JTETH] A o B H TTd hdT 21 3k ged
Shifcieh ShIUT ST —

(2) tan ! <%)

(1) sin~! (%)
(3) tan ! <§> (4) sin~! (%)

37. I fg-fiere g & 89 4000A Tl o
TSI THTI I 60 Thesi TTT & T ITH HTd
gl gfe g7 qmeed 6000A F1 WAl wehrar
TAT H, a9 I gvA FF H Wy feesn A
TG § ;-

(1) 60 (2) 90 (3) 40 (4) 15
38. U ficre fS@ehl =S 24 x 10°° cm Bl W YohTT

Sveed a8l s a5 | 30° i

fearfa ot fgdter etfew b ® av weprer <t qior 2ef

30°. What is wave length of light. FT 8|

(1) 6000 A (2) 5000 A (1) 6000 A (2) 5000 A

(3) 3000 A (4) 1500 A (3) 3000 A (4) 1500 A
| SAMPLE PAPER # 04 1001CMD302122004
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39.

40.

41.

42.

ALLEN
39.

>

A particle of mass ‘m’ is projected from
ground with velocity ‘u’” making angle ‘6 with
the vertical. The de-Broglie wave length of the
particle at the highest point is :

h

W Ty

h h
3) — 4) —
) mu cos 0 @) mu

The momentum of a particle of mass m and
charge q is equal to that of photon of wavelength
A the speed of the particle is given by :-

h hi
(1) — 2) m

h
(3) qhn 4) mT

A given nucleus, of binding energy B, contains
Z protons & N neutrons. The mass M (N, Z) of
the nucleus is given by :-

(C :- Speed of light)

(1) M(N, Z) = NMn + ZMp + BC?
(2) M(N, Z) = NMn + ZMp + B/C?
(3) M(N, Z) = NMn — ZMp + B/C?
(4) M(N, Z) =NMn + ZMp - B/C*

The radioactivity of sample is R, at a time T, and
R, at a time T,. If the half life of the specimen is T,

then the number of atom that have disintegrated in
the time (T, — T,) is proportional to :-

(1) RT, =R,T,

(2) (R,~R,)/T

Ri—R»
T

(4) (R{—R;)

3)

40.

41.

42.

TSI ‘m’ o Tk K &l ‘u’ 97T ¥ HE
¥ o’ HU 9T gafug fEam smar g oar
s=aqq farg 9t & sl qines @ A
E\TTIT :

1y o @
mu sin 6
h h
) mu cos 0 “) mu

T m qUT Y q % Uk T & G, A
TR o Ueh BIEH o HaT o SIe § dl T o
W@“ﬁ:—

h hx
Y ST
mh

3) qhx G N

Teh 1T foRIY & Z Wl T N =g 2 i
FHh SU o1 B 2 38 A1 T 5590 M (N,
Z) S3h &I :-

(C :- JShIST 2 =)

(1) M(N, Z)=NMn + ZMp + BC?

(2) M(N, Z) = NMn + ZMp + B/C?

(3) M(N, Z) = NMn — ZMp + B/C?

(4) M(N, Z) =NMn + ZMp - B/C?

forelt T T AR T, §9F TR, T4 T, T
R, Bl AR A FEHAY T & A, (T, - T))
a9y % AN faEied wEne i Ewr
qHTIaTd B -

() RT,=R,T,

(2) R,-R)/T

R;1—R»
T

(4) (R{-R;)

3)

| SAMPLE PAPER # 04
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1001CMD302122004
Page 11/52

Space for Rough Work / TP cav ks 1%1: Slilg



ALLEN

43. In an unbiased p-n Junction holes diffuse from 43, HAIEEH p-n 9[- T g™ (‘cﬁ?.'{) p-‘ﬂT’Tﬁ n-9TT H
the p-region to n-region because :- forafea 2ia 8 i -
(1) Free electron in n-region attract them (1) n-IT o Haxh 3@3@"[3% SATH N L 2
(2) They move across the junction by (2) 3 @iy & geg favarat & SR i wd
potential difference H
(3) Hole concentration in p-region is more as (3) p-¥m T BleT T H5dTT n-9HT 6T qaT L
compared to n-region 31fere Bt 71
(4) All (4) asft
44. Which of the following circuits provides full- 44, = T @ FHAET INGY TF Jedmadt Haht & o
wave rectification of an ac input ? Ut T femeRteT SaT AT @ 2
. Ac _ac
mput mput
(D (D
output output
O— O—
0 0
_ac .ac
input input
() )
= output = output
- 0 \ 4 0
L ac L ac
input input
3) 3)
output output
- < - <
_ac _ac
input input
4 [ “4)
:E output output
- 0 - 0
SAMPLE PAPER # 04 1001CMD302122004
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45.

46.

47.

ALLEN

'Output is LOW if and only if all the inputs are 45. <9 ffa 0 @ afs ot waa afe gt faw
HIGH' Indicate the logic gate for which the "' & A 98 wYd [T 0 @ fw g & fau
above statement is true :- e ¢ -
(1) AND (1) AND
(2) OR (2) OR
(3) NOR (3) NOR
(4) NAND (4) NAND
If the arrangement shown in the figure is in 46. afe yef¥ia yaTT ar=r ¥ § A1 sclieh ol 599 m
equilibrium, mass m of the block is closest to (T BI:-
|~

2kg
(1) 1.0kg (1) 1.0kg
(2) 1.5kg (2) 1.5kg
(3) 3.0kg (3) 3.0kg
(4) 6.0kg (4) 6.0kg
A wheel whose moment of inertia is 12 Kg-m? 47. 12 forur-di? & Gi?ac_or?:TrEl;Uf % Ufeq o1 TR
has an initial angular velocity of 40 rad/sec. A IR 77 40 MeT/&. 1 9fet o 20 W@-H‘T
constant torque of 20 N-m acts on the wheel. FT T I awzgﬁ FRT g1 3G U Y T
The time in which the wheel is accelerated to L I gfeAr 100 Wea=/8. i i I caia &
100 rad/sec is :- STTUIT -
(1) 72 seconds (1) 72 seconds
(2) 16 seconds (2) 16 seconds
(3) 8 seconds (3) 8 seconds
(4) 36 seconds (4) 36 seconds
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48.

49.

50.

ALLEN
48.

An observer receives waves directly from a
source of sound distant 120m in a big hall. He
also receives waves reflected from the mid-
point of 25m high ceiling. The wavelength of
sound (in meter) for constructive interference

to take place between two waves, must be :

5 10
(1) 5,2.5, —..... ) 10,5, — ...
3 3
20 10
(3) 20, —, 4 ... 4) 10, —,2 ...
3 3

In the figure shown, find the ratio of the linear
charge densities A, (on semi-infinite straight
wire) and A, (on semi-circular part) that is &,/),
so that the field at O is along y direction.

(1) 2
3) 3

4) 2.5

In a region of uniform magnetic induction B = 102
tesla, a circular coil of radius 30 cm and resistance
m ohm is rotated about an axis which s
perpendicular to the direction of B and which
forms a diameter of the coil. If the coil rotates at
200 rpm the amplitude of the alternating current

induced in the coil is :-

49.

50.

T fasme sAL § uH oar 120 H g eafy
BT § @Y 9 UIE HI@@ 2| BT F T&aH
% #ey farg @ 25 @ S w9 @ quAldq
Tin oft oar WH wT@ ®1 A 9 #
ot syfpwtwr w9 & fau eafr i
qineed (drer #) B =l -

5 10
(1) 5,2.5, —..... 2) 10,5, — ..
3 3
20 10
(3) 20, —,4..... 4) 10, —,2 ...
3 3

vefitd foe o, i SmesT o e A, (JT6-3- T
TR W) TAT A, (IFH-IATHI T ) T AT
M/, TG HIE a1 O T & y fomm & srafes
Rl

(1) 2
3 3

Ush THEHTT IFhd ST B = 1072 HeA
& U U 30 W Brsar F 72 ohm Fferlier =AY
U I FUST! Uk A& o HIUE F0H HLdl 8
St B #i fawm & @read @ wd S Fueet &
=TE S 81 Al FUSA 200 = Thd e
1 W gAdl 7, A Fusel H U geared
YT T STTATH & -

4) 2.5

(1) 4n’ mA (1) 4n’ mA

) 30 mA ) 30 mA

3) 6mA (3) 6mA

(4) 200 mA (4) 200 mA
[ SAMPLE PAPER # 04 1001CMD302122004
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ALLEN

SUBJECT : CHEMISTRY

Topic : Full Syllabus

L

SECTION - A
Attempt All 35 questions

S1.

52.

53.

54.

What quantity of lime stone on heating will
give 56 kg of CaO :-

(1) 1000 kg
(2) 56kg
(3) 44kg
(4) 100 kg

Find the ratio of the time period of 2™ Bohr
orbit of He" and 4™ Bohr orbit of Li*".

9 9
O 5 @ 1
7 11
& o @ 3

In order to increase the rate of the elementary
reaction :

2A + 3B — product, 32 times, it is necessary to :
(1) Make the conc. of A and B three times

(2) Make the conc. of A and B two times

(3) Make the conc. of A and B half

(4) Make the conc. of A and B four times

For the reaction A, + B, — 3C,); AH =-30kJ
which is correct :-

(1) Reaction is spontaneous at high temperature
(2) Reaction is spontaneous at lower temperature
(3) Reaction is spontaneous at any temperature

(4) Reaction is nonspontaneous at any temperature

(

T UE - A
ot 35 g1 AfE §

S1.

52.

53.

54.

AT TH T fora=t AT & T 9 T CaO &
56 kg ITH BT :-

(1) 1000 kg
(2) 56kg
(3) 44 kg
(4) 100 kg
He" T 2" T8 oheT qT LiZ™ T 4™ Set hel o
SATEIHIE T AT 1l |
9 9
(1) 0 (2) 12
7 11
3) o @ 3¢

Jfe grerfaes JAMERT 2A + 3B — 3cdTe, T fd
32 AT SR €, -

(1) A= B 3 @z forrHt i sy
(2) A9 B I |l gHT AT ST
(3) A9 B ! Grsar 3 shi ST
(4) A9 B o Gr=sar =T 6l STY

HAMNTRAT A, + B, — 3C,; AH=-30kJ
e 7 4wl faerea @ -

(1) rfuferan == a9 W E=a: 2

(2) fiferan fer a0 W T R

(3) Afrfsrar foreht off a9 o &=q: R
(4) rfuferan fereft off o W 3TEaa: R
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55.

56.

57.

58.

59.

ALLEN
55.

Oyt e — O ; AH, = 34 Kcal mol™'
Oy T2 — O’z(g) ; AH, = 168 Kcal mol™
The enthalpy change for the reaction.
Oyte — O%g*) is

(1) —134 Kcal mol™

(2) 134 Kcal mol ™

(3) —202 Kcal mol™

(4) 202 Kcal mol™

However greater the pressure, a gas cannot be

liquified above its :

(1) Boyle temperature

(2) Inversion temperature

(3) Critical temperature

(4) Room temperature

For the tetrahedral co-ordination, the radius ratio is :
(1) 0.155-0.225 (2) 0.225-0.414
(3) 0.414-0.732 (4) 0.732-1

Which of the following relation is correct ?

(1) AH¢ (H,0, ¢) = AH.” (H,, g)

(2) AH{ (CO,, g) = AH.” (C, graphite)

(3) AH.(CO, g)=AH_%(C, graphite}-AH (CO; g)
(4) All of the above

For 2NH;(g) — Ny(g) + 3Hy(g) + 92kCal,
activation energy (E,) for the reaction is 200
kcal. Hence, the activation energy for

Ny(g) + 3H,(g) — 2NH;(g) is :
(1) 108 kcal (2) 200 kcal

(3) 292 keal (4) 292 keal

56.

57.

58.

59.

Oy te — O ; AH, =34 Kcal mol
Ogt2e — O’2® ; AH, = 168 Kcal mol !
ot afsafsran 3 forw woied) & afteda s A= s Erm)

Oy+e —0f,
(1) —134 Kcal mol™
(2) 134 Kcal mol™
(3) —202 Kcal mol™
(4) 202 Kcal mol™

e ToraT ot == <1e T S TR 19 @ S
Torelt e i1 sfora 7 fopam ST a2 2

(1) S any

(2) kAT AT

(3) hTf=ceh a9

(4) HHL AT

Ffe AT TH= B, AT 3T ST B
(1) 0.155-0.225 (2) 0.225-0.414
(3) 0.414-0.732 (4) 0.732-1

ot 3 & i wefy wE 2

(1) AHS (H,0, £) = AH.’ (H,, g)

(2) AH/ (CO,, g) = AH,” (C, ITE2)

(3) AH.’(CO, g)=AH,’(C, I%TEe)-AH,(CO, g)
(4) SUh aeft

AT 2NH,(g) — No(g) + 3H,(g) + 92kCal
% fou afsraor =it (E,) &1 99 200 keal ®,

N,(g)+3H,(g)—2NH,(g) F forT afsraor St =t

AR -
(1) 108 kcal (2) 200 kcal

(3) 292 kcal (4) 292 kcal
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60.

61.

62.

63.

ALLEN
60.

500 ml of 0.3 M AgNO; are added to 600 ml of
0.5 M KI solution. The ions which will move

towards the cathode and anode respectively are
(1) Agl/Ag" and NO;

(2) Agl/I" and K*

(3) K"and Agl/T”

(4) Agl/K" and I

P, and Py are the vapour pressure of pure liquid
components A and B respectively of an ideal binary
solution. If X, represents the mole fraction of component
A, the total vapour pressure of the solution will be.

(1) Pg+ X, (Pg—Py)

(2) Pyt X, (Py—Pp)

(3) Py+X,\(Pg—Py)

(4) Py + X, (Py—Pp)

Which of the following has only 1° H :-

(1) Isobutane

(2) Tsobutylene

(3) Cyclohexane

(4) Toluene

CH,-CH,-NH-CHO: CHE—(IZH—CHO

NH,

I II
Which type of isomerism is observed between Land IT -

(1) Chain isomers
(2) Positional isomers
(3) Functional group isomers

(4) Metamers

61.

62.

63.

0.3 M AgNO, & 500 ml fae=@= = 0.5 M KI
% 600 ml & I SITar 21 ¥ T T ST SHA:
FATS qAT TS T T T |

(1) Agl/Ag" qITNO,

(2) Agl/I' TATK*

(3) K@ Agl/I-

(4) AgUK qamI

T TeRt failt foer o 35 59 sfawEl A qu
B % dTSUETel SHUST: P, QT Py, &1 Al o= A &
i TS 1 X, ¥ =h o ST @t T &1
Tl ATSTETE BT

(1) Pg+ X, (Pg—Py)

(2) Pg+ X, (Py—Pp)

(3) Pa+ Xy (Pg—P,)

(4) Pyt Xy (Py=Pp)

R 21 & st 2T 3 Sheret 10 H ooy St &-

(1) 3TgEge

(2) SAEEA

(3) WTSFARTE

(4) efE

CH,—~CH,~NH-CHO; CH,—CH-CHO
X,

I I
1 97 11 § forel Teh I At SoTaear @ ;-

(1) &Ea gaTeFst
2) Teafa aumaeh
(3) ToraTcHe HwE qHTee

(4) AT
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64.

65.

66.

ALLEN
64.

Which of the

incorrect configuration :-

following compound has

(1) IA\ Trans
Br Cl
B[‘ BI'
2) w Cis
H H
H, Br
(3) “, Cis
Br ”’H
CH Br
4) 5 5>C=C< Trans
Br CH;4

The correct order of basic strength is
] © 6} e}
(1) NH.>OH>CH, =CH >0C,H,
(C] (C] (C] (C]
(2) CH, =CH>NH, >O0C,H, >OH
6] ] ©] ©
) OC,H,>NH.>OH>CH, =CH
S} o © S}
* OC,H, >OH>NH; >CH, =CH

The correct stability order of the following

resonating structures is :

MHC =N =N (IDH.C —N = N
(I H,C — N =N (IV)H.C - N = N
(1) I>1I>1vV>11

2) I>1I>11>1V

3) IH>1>1>1v

4) NI>1>1V>1Il

65.

66.

frer o 9 forer <ifires o1 foam e @ -
(1) o
Br Cl
Br Br
2 ~ fow
H H
H, Br
ORI /R
Br ”’H
Csz\ /Br
4) /C=C\ I
Br CH,
TR e 6T e R B-

) ] o ©

(1) NH. > OH>CH, =CH > OC,H,
(G} (G} (C] (S}

() CH, =CH>NH, >0C,H, >OH

(¢] © e S}
(3 OC,H, >NH. >OH >CH, = CH

) (S S] 5]
4 OC,H,>OH>NH: >CH, =CH
T STATET EtamTaT o TTRIcadT 1 Hel 9 ¢ ;

— + —

HH,C =N =N (H,C — N = N

- + —~ +
(M H,C — N =N (IV)H,C — N =N

(1) I>11>1V >
(2) I>11>11>1V
(3) M>I>1I>1V

4) NI>1>1V>1Il
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ALLEN

67. Cl CH, 6. Cl H,
+CHy — ] =it +NaCl T A g + NaCl
; dry - I 29T
ether ITAh ARTRAT BT AT R -
Above reaction is known as :-
(1) Wourtz fittig reaction (1) & fofer safwforar
(2) Cannizaro reaction 2) Fiemr et
(3) Aldol reaction (3) Ucsie rfsrfshan
(4) Etard reaction (4) 3T rffspan
68.  Correct order of acidic strength is :- 68. ITrATT WAL T HET FH © :-
OH OH OH OH OH OH OH OH
ON NO, i NO, f NO, i ON NO, i NO, f NO, i
NO, NO, NO, NO,
(D (1) (IIT) (Iv) @ (11 (1) (V)
() I>IV>I1II>1I (1) I>IV>II>1I
2) I>1I>1>1V @) I>1I>1>1V
(3) IV>TI>11>1 @) IV>TI>1>1
4 I>11>111>1V @) 1>10>11>1V
69. Freon-12 is manufactured from tetrachloromethane 69. SRS ¥ fpera-12 fRm erfifsrar & g
by which reaction :- S Q-
(1) Haloform reaction (1) e srfsrfsrm
(2) Waurtz reaction 2) %ﬁfﬂ SR IED)
(3) Swart reaction (3) e afsrfsram
(4) Gatterman reaction (4) T iR
AgNO, AgNO,
70. CH;-CH,-Br Major product is :- 70. CH;-CH,-Br &Y 3c4TS 2
(1) CH;—CH,-NO, (1) CH;-CH,-NO,
(2) CH;CH,-O-N=0 (2) CH;CH,-O-N=0
(3) CH,CH, N=0 (3) CH,CH, N=0
(4) CH;-CH,~CH,-O-N=0 (4) CH;-CH,~CH,-O-N=0
| SAMPLE PAPER # 04 1001CMD302122004
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71.

72.

73.

74.

ALLEN
71.

Which of following pair cannot be seperated by
using NaHSO; ?

0

(1) = /I\

/Y &g m
(@)

(4) All of these

e Zn+NH,Cl
@ :;;unlzli;n > (l’roﬁct) +H0
Product A is :-
(1) Ph-NH, (2) Ph-NO
(3) Ph-NH-OH (4) Ph-NH-NH-Ph

Which of the following is a fat soluble vitamin.
(1) Vitamin A (2) Pyridoxine
(3) Riboflavin (4) Thiamine

Which of the following polymer can be formed

by using the following monomer unit ?
H

|
Hzc/ N\cfo
né
H.C—CH,
(1) Nylon-6, 6
(2) Nylon-2-nylon-6
(3) Melamine polymer
(4) Nylon-6

72.

73.

74.

71 5 & %9 & I % NaHSO, 1 TIh F I4F
T foRaT T Teha 22

0

(1) = /I\

/Y &g m
(@)

) /K & A{\
Ph

0
(3)
/\ & Ph)l\H

(4) T a+ft

NO,
Zn+NH ,Cl A + H20
.
(STIE)

3UTE A BT -

(1) Ph-NH, (2) Ph-NO

(3) Ph-NH-OH (4) Ph-NH-NH-Ph
o i & i e i et 2

(1) faerfim A (2) Ursfeetoe
(3) sl (4) emafi

FeTTRad AR e T TN ik AR

T @ fore srgareh ot ffia fera <1 weka 22

!
N 0
ne' A
5 \
H,C CH,
H

' \jc—c/H

(1) A6, 6 “
(2) AEA-2-ATSAM-6
(3) HIHIA SIgAh

(4) ATEAH-6
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ALLEN

75. Among ALO;, SiO,, P,Os & SO,, the correct 75. AlO,, Si0O,, P,O, a1 SO, T orefia ame o
order of acidic strength is :- TR FAR -
(1) AlO;<Si0O, < SO; < P,05 (1) AlLO;<Si0, <S0; <P,05
(2) SiO, <S0; < Al,05 < P,05 (2) SiO, <S0; < Al,05 < P,05
(3) SO;<P,05<8i0, <ALO; (3) SO, <P,0,<Si0, < AlLO,
(4) Al0;<SiO, <P,05< S0, (4) AlLO; < SiO, <P,05<SO;

76.  The correct order for bond angle is :- 76. ST SIVT 6T el SHT HITET B -
(1) CH,>NH;>H,0 (1) CH,>NH;>H,0
(2) CH,>H,0 > NH, (2) CH,>H,0 > NH,
(3) NH;>H,0>CH, (3) NH;>H,0 >CH,
(4) H,0>NH,>CH, (4) H,0>NH,>CH,

77. Electrolysis of NaCl (molten) leads to the 77. NaCl (7fa) & ﬁ%\{ﬁ AYYEST qIU a9d1
formation of : T -
(1) NaandH, (2) Naand O, (1) NadTH, (2) Nadur o,
(3) H,and O, (4) Naand Cl, (3) H,du1 0, (4) NadrCl,

78. Bismuth does not form stable pentahalide 78. oy i YreTeemse el ST § Fifh-
because of :-
(1) Its higher electronegativity (1) &t S1BED ﬁ%\ljﬁﬁvﬁT
(2) Its smaller size 2) T BIT ATHR
(3) Inert pair effect 3) < ED) RESERIE]
(4) Non availability of d-orbitals (4) d-heTeh i 311‘1{'&94'% & FHIIT

79. The correct statement for the molecule Cslj is:- 79. Csl; 7 % T Tea e & -
(1) It contains Cs™ & I"* ions (1) I8 Cs™qum > AT W@t &
(2) It contains Cs" & I; ions (2) I8 Cs' qAT 1, A TEdT &
(3) It contains Cs', I & I, molecule (3) I Cs', I qATL, A7 Tt el
(4) All are correct 4) aft w21

80. Hybridisation of [Ni(dmg),] is 80. [Ni(dmg),] T HHLT B
(1) sp (2) dsp> (3) sp’ (4) dsp’ (1) sp (2) dsp> (3) sp> (4) dsp’

| SAMPLE PAPER # 04 1001CMD302122004 |
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81.  White vitriol is :- 81. UHSAATE :-
(1) ZnS (1) ZnS
(2) ZnSO, (2) ZnSO,
(3) ZnSO,. 7H,0 (3) ZnSO,. 7H,0
(4) ZnCO, (4) ZnCO;,
82. Least basic oxide is : 82. IdH AR TS © -
(1) Nd,0,4 (1) Nd,0,4
(2) Gd,04 (2) Gd,04
(3) Er,0, (3) Er,0,
(4) Dy0, (4) Dy0,
83.  Coordination number of Ni in [Ni(C,0,);]* is :- 83. [Ni(C,0,)]*" T Ni sl TH= SET R -
(3 (2) 6 (3 (2) 6
(3) 4 4) 5 3) 4 4 5
84. Blister copper contain how much impurities :- 84. WWIcieR Cu H 3T{7|'%' T HTT B -
(1) 4% (2) 2% (3) 5% @) 6% (1) 4% 2) 2%  (3) 5% @) 6%
gs. Cl g5.  Cl
Conc. HNO; NH, w1 HNO, NH,
Conc. 1,80, Y A °Q w80, T A Q
NO, NO,
Product Q is:- 3c4TE Q 2i-
Cl Cl Cl Cl
NO, NH, NO, NH,
) () (1) )
NH, NO, NH, NO,
NHZNO: NHZSOSH NHZ NO, NHZSOSH
3) “4) 3) 4
NO, 0 NO, NO,
SAMPLE PAPER # 04 1001CMD302122004
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ALLEN

( SECTION - B )

This section will have 15 questions. Candidate
can choose to attempt any 10 question out of
these 15 questions. In case if candidate attempts
more than 10 questions, first 10 attempted

L questions will be considered for marking.

86. Identify buffer solution from following :-
(1) NH,OH + NH,CI
(2) HCIl+KClI
(3) KCl1+KCIO,
(4) All of the above

87. What is the stoichiometric coefficient of Ca in
the reaction after balancing :
Ca+ AP —— Ca* + Al?

(1) 2
3) 3

2 1
4) 4
88.  Concentration could change value of :
(1) E, (activation energy)
(2) Rate of reaction
(3) K (rate constant)
(4) All of these

89. For a
25°C, k = 1.38 x 10°® ohm'em'. A°,, for
AgCl
solubility product of AgCl will be

saturated solution of AgCl at

is 138 ohm 'cm’mol™!, then, the

(1) 10°°
(2) 107"
(3) 107
(4) 107"

( g -B

@IS T 15 97 81 wameff 37 15 v § A A
Y 10 w2 =X Gehar 21 Af whemeff 10 & Aftrem wx
1 I AT & A & TR gU I 10 W & A=

Rl
(G J

86. T4 o foretad yg=nfau -

(1) NH,OH + NH,CI

(2) HCI+KCl
(3) KCl+KCIO,

(4) STk it
87. Ca &1 a1 TS SAMfRAT H TEEHIROEHTT TR
HAfoTd i o T2 & -
Ca+ AP —— Ca® + Al?
(1) 2 @) 1
3 3 4) 4
88. W= fohteh WM ST TTEfdid s Wehell 2
(1) E, (@fsaor <)
(2) SfufeRaT i 5T
(3) K (T feerieh)
(4) FHaad

89. 25°C W AgCl o Haw faea = fag
k=1.38x 10%ohm™' cm™ 8 AgCl & fetw e,
138 ohm 'cm’mol! ® @& AgCl @ focmmar
TUHES AT -

(1) 107
(2) 107"
3) 10"
4) 107
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90. Alcohol is not formed as product in : 90. T o o forum Toehlelal 3cuTg o &9 H T T 2
(1) CH3 _CH2 _NH2 NaNOz-i-HCl(a(l)" (1) CI‘[; _CI_]: _NI_[J NaNO, +HCI( =#mT) N
) ] (i) CH3MgBr
@) CH. CHO (;J_(_:!I_?M;,Br (2) CH,~CHO T
i (ii) H,O 3
I LiAlH, ”, LiAlH,
3) CH;-C—-NH, — (3) CH3-C-NH, ——
KOH (aq.) 4 . _ KOH(weia)
4) CH3;—CH,—Cl— ) EH, <CH,—Cl
91. CH, 91. CH,
= —
O Q
O Q :
which of the following reactant is used to &2 T =i T I A R SRR SuRT
® ®
obtain above compound [ Et—O is used fera St PTFG’ ffsRr Et— O ﬁa?tlém]
during Rxn]
H gr B_r
(1) cat (1
Br
H = % 4CH,
3) 4) (3)
O 0]
0]
92. Select the incorrect order of thermal stability:- 92, I TATRIC o TeTd shH ohT < Eﬁ'ﬁ'ﬂ -
(1) KO, <RbO, <Cs0, (1) KO, <RbO, <Cs0,
(2) K,CO;>MgCO; > BeCO, (2) K,CO;>MgCO; > BeCO;,
(3) Na,0>K,0 >Rb,0 (3) Na,0>K,0>Rb,0
(4) CCl, <SiCl, < GeCl, < SnCl, (4) CCl, <SiCl, < GeCl, <SnCl,
93. In weak alkaline medium iodide is changed in 93. EETFT AR A1Eqq T KMnO,, STTTeTse &l fe o
following compound by KMnO, :- gftafdd sar @ :-
(H 1, (2) KI 3) 105, @) 105 (H 1, (2) KI (3) 105, @) 105
| SAMPLE PAPER # 04 1001CMD302122004 |
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94.

9s.

96.

97.

ALLEN
94,

A complex whose IUPAC name is not
written correctly is :
(1) [Fe(o-CsHy),]

Bis(n’-cyclopentadienyl) iron(0)

(2) [Cr(n®~C¢Hy),]
Bis(n’~benzene)chromium(0)

(3) [CoCl,(H,0),]C1.2H,0
Tetraaquadichlorocobalt(I11)
chloride.dihydrate

(4) [Zn(NCS),)*
Tetrathiocyanato-N-zincate(II) ion

The isomer can be marked as :-

NH,
NH, cl
M
cl NH,
NH,

(1) Cis isomer (2) Trans isomer

(3) d-isomer (4) C-isomer

In metallurgy, flux is a substance that is used to convert :-
(1) Infusible impurities to fusible

(2) Fusible impurities to infusible

(3) Soluble impurities to insoluble

(4) Mineral into silicate

The solubility of iodine in water increases in

the presence of :-

(1) Alcohol and dry ice

(2) Chloroform and phosgene
(3) Sodium hydroxide

(4) Potassium iodide

9s.

96.

97.

HITH @FHA H [UPAC 7 & T8 T man
2 -
(1) [Fe(o-CsHy),]

Bis(n’-cyclopentadienyl) iron(0)

(2) [Cr(n®~C¢Hy),]
Bis(n’~benzene)chromium(0)

(3) [CoCl,(H,0),]C1.2H,0
Tetraaquadichlorocobalt(II1)
chloride.dihydrate

(4) [Zn(NCS),]*
Tetrathiocyanato-N-zincate(II) ion

TGS 39 TR (ef~ad {ohaT ST JehdT 2 :-
NH,
NH, cl
M
al NH,
NH,
(1) o gureEh (2) o9 gHTEET
(3) d-gHTEIET (4) C-wHTEFdt
HTeRH H, TTTCTeh o1 STANT BT © :-

(1) 3TTfeTa SAfEat ol Tfera & afafad s J
(2) Tictd SIfGAT b STfeAd H et e §
(3) Torcriier STIReat i STfacrasiiet e &
(4) @i =t faferere 9 ufafda @ o

ATNSH I A § Torerzrar e i suferfa o sgdt
2-

(1) TTHES T o T
(2) FARIGTH TUT BTG
(3) wifeam BrEgiTTS
(4) URREm STEEe
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98.

99.

100.

ALLEN

In a unit cell atoms A, B, C and D are present
at the corners, face centres, body centre and
edge centres respectively. If atoms along any
one of the body diagonal plane of symmetry
are removed then find out the formula of

compound :-
(1) ABCD, (2) ABD,
(3) AB,D, (4) AB,D;

Rate law of the reaction A — Product is, rate =

k[A]. Graphically it is represented as :

-3
310 T

Rate (Ms™)-

1x10

001 02 03 04

[AlLM
Hence rate constant is :

(1) 1x107 min™
(2) 1x107%s™"
(3) 3x107?%s"
4) 1x10*s!

98.

99.

100.

TF FHE 8 H GIH] A, B, C 9 D
FHI: HIAT UL, AR Hrg UL, HT Heg
9T qgr HIT &g g Ryq g1afe fFdt s
F7 fawe gufufs aa ur sufya @
gy g fed Sd € @ AfrE oA
g F1d H

(1) ABCD, (2) ABD,
(3) AB,D, (4) AB,D;
srfufsrar A — Scurg & fote &2 fam €, 2t = K[A]
30 IR ®Y ¥ T yehR wefia R smar 21

3x10 T

Rate (Ms ™)+
110 T
0 0.’1 0.’2 0.’3 0.§4
[AlLM

o1 X s 2 -
(1) 1x10?min™'
2) 1x107%s"
3) 3x107%s!
(4) 1x10*s™!
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ALLEN

SUBJECT : BOTANY

Topic : Full Syllabus

L

SECTION-A
Attempt All 35 questions

101.

102.

103.

104.

105.

How many true breeding pea plant varieties were
selected by Mendel, as pair which were similar

except for one character with contrasting trait ?
(1) Seven (2) Twelve
(3) Fourteen (4) Twenty

Which of the following is a sex linked
recessive disorder due to defect in either red or
green cone of the eye resulting in failure to
discriminate between red and green colour ?

(1) Night blindness

(2) Colour blindness
(3) Myotonic dystrophy
(4) Ciystic fibrosis

Which of the given cross will result in 9: 3 : 3
: 1 phenotypic ratio :-

(1) RrYy xrryy
(3) RRyy xrrYY

(2) RRYy x RrYY
(4)° RrYy X RrYy
How many different genotype and phenotype

are possible in the ABO blood group typing in

human beings respectively :-
(1) 6&4 2) 6&6
(3) 4&6 4) 4&4

The molecule can act as adapter, structural and

in same case act as catalyst is :-

(1) RNA (2) ATP (3) AMP (4) DNA

(

g us-A
ot 35 g1 AfER §

101.

102.

103.

104.

105.

Tred 3 foodiq &on aret Ser & ®9 7 forat
@Wwﬁmﬁww%mﬁq%@
Toroartet creqor o rcTaT 1= Fuft eI HHE O 2

(1) &rd (2) 9”&

(3) =g 4) s
frafafaa # 9 g e o ggat o
ferehIe @11 o et AT &L /% H forehiT o HroT Breft
2 FSTEeh horeasq itk ol o 8L O7 & o 3
T T YT -

(1) Tieft

(2) ForTEraT

(3) HERI ferarhr

(4) Tafes wesifaa

fau T R HeRor & weEET 9 ;3 ;3 ;1
STETOTSRET STTAT ST e 2 -

(1) RrYy x rryy
(3) RRyy xrrYY (4) RrYy xRrYy

wHEl H T H9E 6 fohde T T o STEd
AT A&7 T FHsT: T © -

(2) RRYy x RrYY

(1) 6&4 (2) 6&6

3) 4&6 4) 4&4

T 3] T, T o %o feafod #
IO ST TG 1Y BT ThalT & -

(1) RNA (2) ATP (3) AMP (4) DNA
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106.

107.

108.

109.

110.

ALLEN

Watson and Crick proposed double helix model
for the structure of DNA which was based on X
ray diffraction data produced by :-

(1) Erwin Chargaff

(2) Temin and Baltimore
(3) Wilkins and Franklin
(4) Oswald Avery
Histone are :-

(1) Responsible for
prokaryote

DNA packaging in

(2) Rich in basic amino acid residue
(3) Negatively charged protein
(4) Synthesized in nucleus

The newly synthesized mRNA does not require
any processing to become active i.e. there is no

post transcriptional processing in :-
(1) Protozoan

(2) Bacteria

(3) Anaerobes only

(4) All unicellular organism

Pusa A-4 is shoot and  fruit borer insect

resistant variety of :-

(1) Bhindi (2) Brassica

(3) Wheat (4) Flat bean

Which of the following bioactive molecule
inhibit the enzyme responsible for synthesis of
cholesterol ?

106.

107.

108.

109.

110.

e qeT 555  DNA 3 &Te1 o forg T Feeft
Aied i ShaTed form St EUUSIECACaS
Xrayﬁaﬁ?%mwmmz-

(1) st =mams
(2) T IR
(3) Tafedka 3 Thepferm
(4) irgaTee TR
feem e -

(1) TihfEed # DNA TaeT & foe s 2
?

(2) &R STHHT STFT ST H T A 2
(3) SRUMERTT T &
(4) Fssh @A B

U o3 mRNA i 9fshg 84 & fore forell
TSR 1 3TTavTehar el Bt & erfa denrs
92 Sierad foRa T Al @ -

(1) TS

(2) Sfram

O EESEEIREIREICIR
(4) &+t wsheRITRTeR Sta H

THT A-4 foresh! S qo1 woavesh hie wiaet
P g -

(1) fooeh ) ST
3) g (4) Fudram

ffafad # S SF "R A werEed
& G99 & foru I9eeErt USEy 1 dedd
FLAT T ?

(1) Acetyl CoA (2) Cyclosporin A (1) THfeAT CoA (2) TTSFATCTIT A

(3) Statin (4) Casein (3) Wi (4) FHA
| SAMPLE PAPER # 04 1001CMD302122004
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111.

112.

113.

114.

115.

ALLEN

Better yielding semi dwarf varieties of rice

developed in India were :-
(1) Jaya & Ratna

(2) Jaya & IR-8

(3) IR-8 & Ratna

(4) Taichung Native-I

Which of the following floral feature is shown

by both floral formula and floral diagram ?
(1) Aestivation of sepals in floral bud

(2) Adhesion between parts of floral whorls
(3) Number of locule/s in ovary

(4) Arrangement of ovule(s) within the ovary
In which of the following, ovary is inferior?

(1) Chinarose (2) Mustard

(3) Guava (4) Rose

How many plants in the list given below are
examples of modifications of stem :-

Bougainvillea, Euphorbia, Rhizophora,
Turmeric, Sweet potato, Turnip, Colocasia,

Opuntia, Chrysanthemum.

(1) Three (2) Five (3) Six (4) Seven
Select incorrect statement :-

(1) Vascular cambium and cork cambium are

example of lateral meristem.

(2) Spring wood is light in colour where as
autumn wood is dark in colour.

(3) Bark is a non technical term in which

111.

112.

113.

114.

115.

aRd § faerfid o sl 31=sT IcuTe 3 arell 37
e foret 2 -

(1) ST Ten
(2) SETTA IR-8
(3) IR-8 TF T
(4) ATETARE-1

et 5 @ i gt e O 9 T O A
2T g SRR fopar ST @ 2

(1) ot HicTeh # STRIae o1 oIee fomame
(2) et =Ishi o AT o oft=r § ATES

(3) SAUSTIR H YehIB/IhIBT shT T

(4) VST H SASUS/SAISTUST hl srareer

fareferfiaa 5 @ foras svemm ALt arar e -
(1) TSed (2) TwEr
(3) IHES (4) T

fa & g gt § @ foRaT wew 99 &
FAT-L0N o IS8 § :-
AN, JEIEEAT,  TESEIERT, g,

SIhiche, SIGISIH,  HIGAISITT, ST,
FHIFETT

(h @@ @ 9= (3) ®: (4 ¥«
I HYA FH AT :-

(1) Gt Tan wd & wen ard favsaias &
IR 2

(2) TG T8 Beoh TT ! STefeh IS HT8 T T

ERII
(3) BT Teh -qehleh! Teg & e qftcass T

periderm and secondary phloem are included. [EGIRER S| R S A
(4) In dicotyledonous roots, vascular cambium is (4) Tosfierost Stet ®, Hagt war Seafa o 37ifireh
partly primary and partly secondary in origin w9 § ik g ifdes &9 ¥ fgdfiaes 2t 2|
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116. Which of the following is not an event of

117.

118.

119.

ALLEN
116. feq @ @ wyad dfre a7 Hit gear

sexual reproduction ?
(1) Transfer of gametes
(2) Fusion of gametes

(3) Formation of new organism from unfertilized

female gamete
(4) Development of embryo from zygote
Which of the following is not an outbreeding device?
(1) Self incompatibility
(2) Dioecy
(3) Cleistogamy

(4) Different position of anther and stigma in

same flower
Select odd one with respect to ploidy level :-
(1) Microspore tetrad
(2) Functional megaspore
(3) Embryosac
(4) Cells of the nucellus
Select incorrect statement ?

(1) In mature pollen grain, the vegetative cell
is bigger, has abundant food reserve and a

large irregularly shaped nucleus

(2) Multicarpellary apocarpous gynoecium is
found in Michelia

(3) Seeds are produced without fertilization in

apomixis

(4) Seeds of black pepper are not perispermic

27
(1) IHRT T TR
(2) T T HATH

(3) ASfa war gEE @ F% Sfta w
formtor

(4) TS YT AT AN

117. 12 1 & et T o s s T 8 2

(1) SAs=aar
(2) UehfeATTSRATaT
(3) AT

(4) I IS0 H TR TS Afdeew h e
feufa

118. TITAT & o Ha™ H (a9 ! BT -

119.

(1) SIS <=

(2) ToRaTCHeh TSI

(3) YUhIT

(4) SfiSITUEsHT Y HIfRTHT

U YA I AT :-

(1) uftqera TTeRuT H ShTfeh ShIfSTehT sl ardt §
e Tt @ fer wd U a9 AEha
TR T ek BT &

(2) HTgECTSTT W SRSl RISt ST
ST

(3) TS ® fomr fvem & i Sewfea
FA R

(4) refifire % sfisr aftorr 7 8 2
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120. Choose the correct statement about water potential :- 120. S fawa s 1%1? G HYH T IIT HY -
(1) Kinetic energy of water molecules is less (1) St & 3T0l3ﬁ &I Tfast 31 9 B Al T
if the greater concentration of water is T | ST ol Aigar e 2l
present in a system. (2) v fova s afs yg 5 A foow &=
(2) Water potential increases if some solutes T ST
disolve in pure water. (3) Ffe foera W aareois e & ek g
(3) Ifapressure greater than atmospheric pressure is T ST AT $HeRT ST forve s
applied to solution, its water potential increases. (4) o1 f9T TG TR BT 2, SfhT
(4) Pressure potential is usually negative, but in UEd § e H S SR H araleEsi &
plants positive pressure in the water column ST €TcH 216 Scd— BIdT 2l
in the xylem develop due to transpiration.
121. Brown spots surrounded by chlorotic veins is 121. Tt ° i fwen o o ‘343 ees TeRrRT
symptom of :- AR -
(1) Deficiency of nitrogen (D :ns;;la:l A
(2) Toxicity of magnesium 2) Hrf {3 St femmeRar
(3) Toxicity of manganese 3) st ot e
(4) Deficiency of iron @) ATe T T
122. (A) In Cy-plants, if O, does bind to RuBisCO then | 122. (A) C,-9Teui H, I3 O, FloRah! ¥ I ST & d
CO, fixation decreases. CO, Teerfiertor o et STt 2
(B) C,-plants have a mechanism that increases the (B) C,-dTedt ¥ ®fowahl & & T W O, &l
concentration of O, at the RuBisCO enzyme site. TisdT sE %?Qf T YTshaT Bl 2
(C) In C,plants, RuBisCO  functions as a (C) C,-ureul # wferent Atfrafcmst 1 F Far
oxygenase enzyme and minimising the carboxylase 2 YT Hrelitereretst foram o e} 37t B
activity. (D) C,-aTaut & Fahre Sifereaheor stafderd rar 2|
(D) C,-plants lack photoxidation.
(E) RuBisCO has a much greater affinity for CO,. (E) wfereant it CoO, g 6T‘{JDT'IT feres Bt 71
Choose the option which have all the correct 39 forehed AT < L ST Thre Pf’@"SWT & %I'Q gt
statements (from A to E) for photosynthesis :- T heT (A T E) I AT L -
(1) A,BandC (1) A,BaAurC
(2) A,CandE (2) A,CAuTE
(3) B,DandE (3) B,DAYTE
(4) AandE (4) ATITE
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123.

124.

125.

126.

127.

ALLEN
123. T # @ @1 TR W 3uited fgforre dehio

Which of the following is true regarding

secondary constriction present in chromosomes?
(1) This is darkly stained part of chromosome
(2) This is present on few chromosomes

(3) Position of it is highly variable

(4) Sometime kinetochore is present on it
‘Which of the following is not a significance of meiosis ?

(1) It maintains constant number of chromosomes

in different cells of an organism

(2) It leads to genetic variability in the

population of sexually reproducing organism

(3) It conserves the specific chromosome
number of each species across generations

in sexually reproducing organism
(4) Itis involved in process of evolution
In which kingdom boundaries are not well defined ?
(1) Monera (2) Protista
(3) Fungi (4) Plantae

Which of the following is heterosporus pteridophyte ?
(1) Selaginella

(2) Cycas

(3) Pinus

(4) Cedrus

Which group show haplontic life cycle ?
(1) Bryophyte

(2) Gymnosperm

(3) Algae

(4) Angiosperm

FEH A AR © 2

(1) % TURE o1 Ter Ao Wi &

(2) ¥ F TOGAT W IFEd BraT 8

(3) st fearfe stcafirn aftard=sfier 2 @
(4) ot ol 3 T AR IUTET Brell &

124, T & & e STefaT it weew T & 2

(1) IE Tk St ot ferfor=T shifRrentett # Torgsr i
T fId e Tt @

(2) I8 Afieh SRy Sfiat Y SEen #
ATLai e forfietart wmar 2

(3) Wfieh SRR SEl T Teds SIfd |
forfSre= ot # TSt <t Eea i wiR
HLAT ®

(4) I8 35 o TehH | wiEATTd grar @

125. for STt o ST oo = 2 2

(1) |-

(3) Fah

(2) ifewT
(4) e

126. 0 & @ e fosmefisoge Sfeere & 2

(1) GeifsHer
(2) arEFg
(3) ETE
4) Hga

127. T QIR SwATi-Ca SiTa =56 TEIRid ia & 2

(1) STEHEe
(2) fomread
(3) ST

(4) Uf-oriteaH
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128. Which statement is incorrect ? 128. HIET HIT AT & 2
(1) In brown algae sexual reproduction may (1) ﬂ;ﬁ Rl W AfE SR W{I}I{ﬁ,
be isogamous, anisogamous and oogamous GTHW qadar W@?ﬂﬁ HEETIE
(2) The liverworts grow usually in moist, (2) Hoeadd am=d: 0 9 DERR T T
shady habitats A
(3) In gymnosperms ovules are enclosed by 3) S o i, stvemmE fimt g R
ovary wall I
(4) In pteridophytes main plant body is 4) éiiél%l%{“& ) HEH q1ey v W BT
sporophyte H
129. The rate of formation of new organic matter by 129. SUMIHT o FRT U e geret o fufor it &€
consumer is called as :- FAT FHEATd ¢ -
(1) Gross primary productivity (1) Thet TIHeh Scargehdl
(2) Net primary productivity () EW{EITQ'&IEFWWT
(3) Secondary productivity (3). Teceh ScdTaehd
(4) Primary productivity (4) TufHe Seareehar
130. Which of the following statement is incorrect ? 130. AT ST A1 FIT TeAA© 2
(1) Cropfield is considered as man-made (1) F g & A=a-F qTids 7= S
ecosystem 2
(2) Wetland is an example of aquatic ecosystem 2) ™ ﬂ;&[, STeTI TGS 3T Uah 3ETRLll H
(3) Earthworm is a detritivore and hence 3) érgm T ITERR § 34T 36 Elﬁch"% Eal
referred as farmer of nature foraT et SITaT ®
(4) Humus is highly resistant for microbial (4) =HE H_\&'%ﬁﬁwf i o & o1 g8d SBED
action gferreft 8T 8
131. Among the following which one has maximum 131. fr7 @ @ fead srda fafaga gaifys
species diversity :- ? -
(1) Orchid (1) 3mfhe
(2) Beetles (2) 9T
(3) Ant (3) ifeat
(4) Fishes (4) 9EI
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132.

133.

134.

135.

ALLEN

Choose the correct equation for 'species-area

relationship' :-

(1) logA=1logC+ZlogS
(2) logC=logS+ZlogA
(3) logZ=AlogC +logS

(4) logS=logC+ZlogA

Which method is crucial to dispose hospital
waste?

(1) Open dumping
(2) Incineration

(3) Landfills

(4) Both (1) and (3)

All the buses of Delhi were converted to run on
CNG by the end of -

(1) 1997
(2) 2000
(3) 2002
(4) 2010

How many examples given below are not the
example of detrimental relations.

Epiphyte on mango, Lichen, Mycorrhizae,
Cuscuta on Hedge plant, Barnacle on whale,
Ticks on dog :-

(1) Four
(2) Six
(3) Two

(4) Five

132.

133.

134.

135.

‘T g7 g9y’ & T gd gHwTw W=
-

(1) logA=1logC+Zlog$S

(2) logC=logS+Zlog A

(3) logZ=AlogC+log$

(4) logS=1logC+Zlog A

FITET T AT F R F Froew ¥ frg
eI IATIF © ?

(1) G HFAT

(2) 9 T

(3) weithed

(4) (1) 3R (3)

IH % 3Ad doh faoatl ht aeft s T CNG |
gfafedd s feam ma -

(1) 1997
(2) 2000
(3) 2002
(4) 2010

fig fer 7w 3Ier'TON § ® fRqd ITrRIM
s gay & I& | W F UT Uy
ARIITEY, ATIHA, HWITHIUIST, oS &
qIEYl 9T AAIAA, e UL AAFA, FHl
gt fT3w .-

(1) =W
2) ®:
3) &

(4) b=
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SECTION-B )
This section will have 15 questions. Candidate
can choose to attempt any 10 question out of
these 15 questions. In case if candidate attempts
more than 10 questions, first 10 attempted

L questions will be considered for marking.

136. The basis of DNA finger printing is :-
(1) Complementarity of DNA
(2) Variable number of tandem repeat
(3) Variability in size of genome

(4) The sequence of coding and non coding
region

137. Match the following column and select the

correct option :-

(a) | Lady bird (i) | Aphids
Bacillus | Butter flies
(b) (i1)
thuringiensis caterpillars
Insect and other
(c) | Baculovirus (iii)

( TUe-B

TGS T 15 97 81 wameff 37 15 v 0 A A
Y 10 w2 X Hehar 21 Af qheeff 10 & ftrem wx
1 I AT & A o TR gU I 10 W & A

=l

. J
136. DNA TR fSdim o1 s 2 -

(1) DNA ! §qeehar

(2) 3FTES T i 1T Eea

(3) SO % TR T fir=Tar

(4) IS T& TABITST WHT T SFTHH

137. f=fafga siaat 1 ffam & g9 fasmes =
WW:-

(a) | A (i) |cirem
daerq

(b) (i) | foaeft i sfeerat
gRISTaEte

=5 A ] B )

artig@pods (c) | SrrreiaTe® | (i)
. . EIEIEIS
Effective against
(d) | Trichoderma | (iv) | several plant 3 UTGY UehsTehl
(d) | grereH] (iv)
pathogen % faeg g
(1) a—i, b—ii, C—iii, d-iv (1) a-i, b-ii, C-iii, d-iv
(2) a-i, b-iii, C-iV, d-ii (2) a—i, b-iii, C—iV, d-ii
(3) a-i, b-iv, c-iii, d-ii (3) a-i, b-iv, c-iii, d-ii
(4) a—ii, b—iV, C—i, d-iii (4) a-ii, b-iV, C-i, d-iii
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138. Match the term given in column I with their 138. hicH 1 ® feu 7w yet &1 foe iaw 11 ¥ fou
appropriate meaning in column II and select the hh 39<h af & wry fersfic aum g EERND
most suitable option :- forereq =t = IR -

F, always F, T Hed 3 4 ¥ Tk
(a) | Allele (1) |resemble either of (a) | 3Tt (i) |SHk % A
the parents AT eI B @
. .| Fi was in between K ST STehT o i
(b) | Co dominance | (ii) the parents (b) | TESTTaT (i1) 3 o g 3
© Incomplete (i) F, resemble both © S S - (i) F, eI CCal:)
dominance parents = Toreret Tzlﬁl'cﬁ ?
(d) | Dominance (iv) Slight — different (d) gaTferar (iv) S
form of the gene o1 =1 T®y gar @
(1) a-iv, b-iii, c-ii, d-i (1) a-iv, b-iii, c-ii, d-i
(2) a-i, b-ii, c-iii, d-iv (2) a-i, b-ii, c-iii, d-iv
(3) a-ii, b-iv, c-i, d-iii (3) a-ii, b-iv, c-1, d-iii
(4) a-iii, b-i, c-iv, d-ii (4) a-iii, b-i, c-iv, d-ii

139. Swollen placenta with many ovules are found 139. 3USRME ¥ 3HF sIUg Ieh BT g3 EISILSISES

in ovary of :- T ST & :-

(1) Onion (D) RS 5

(2) Trifolium () zZIEHierT &
(3) Makoi (3) THREIH

(4) Mustard (4) @+

140. A plant cell which is highly thickened and dead | 140. U UTeq I3t ST foh Gepd) STaap1iTehT & IITRaA

with narrow lumen and branched pits :- T Ih, Tcafersh 13?{\%1?[ ERG BT R -

(1) Tracheid (1) arfefen

(2) Vessel element (2) aTfeet dcd

(3) Sclerenchymatous fibre 3) @W@ﬁlﬂﬂ

(4) Sclereid (4) HSh HIITHT
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142.

ALLEN

Read the following statements carefully :-

(A) Epiblast is found in grass embryo.

(B) In typical angiospermic fertilized embryosac
primary endosperm cell is triploid.

(C) Seeds of pea and groundnut are albuminous.
(D) Apple and strawberry are example of false
fruits.

(E) A recent record of 2000 years old viable
seed is of the Phoenix dactylifera.

How many above statements are correct :-
(1) Three

(2) Two

(3) Four

(4) Five

-

4

m
N\

Rate of photosynthesis
>
.

|
D
Light intensity

Choose the incorrect option for given figure :-

(1) E-Light where  maximum

photosynthesis occurs

intensity,

(2) C-factors other than light are limiting
(3) A-Light is limiting

(4) B-Transition between and

limiting value of light

optimum

141.

142.

faq 7T ot T e afe -

(A) BT o YT H TUseATEe (SATRhRR) TRIT STt
2l

(B) T WEUs Srgasiom Fufad yoeeer o
STIfiR 0T 1Y ShiRTeRT GBI &t 2|

(C) WX T HThedt o i<t Joraret B 21

(D) 8 Ug el SATHTE Bl o IeTeT0T 2

(E) &1 & &1 Th S 2000 a9 [ [l
SFHeTaRT o Stiamerm sfist 1 8

ST fohdd FATTA E -

(1) =
2) &

LA ESIE)
few mu fomr & forw mrera forerea st == Y -

C b e

(1) E-9erer dfisidr, et STiehan TehTeresguor
BT R

(2) C-YhTIT & STATET I HIh SRR
(3) A-YehmeT TR

(4) B-A{FAdH qd1 HHEE 7H % s
AT
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144.

145.

146.

ALLEN

Choose the correct option for krebs cycle for
substrate and respective events in aerobic

respiration :-

(1) Glucose, 4 oxidation, 3 CO, release

(2) Pyruvic acid, 4 oxidation, 3 CO, release
(3) Pyruvic acid , 3 oxidation, 2 CO, release
(4) Acetyl Co-A, 4 oxidation, 2 CO, release

Which growth hormone is responsible for

initiating rooting in stem cutting :-
(1) Auxins (2) Gibberellins

(3) Cytokinins (4) Ethylene

Which of the following is true for centriole ?

(1) Two centrioles of a centrosome are

parallel to each other

(2) They form basal body of flagella in

prokaryotic cell
(3) Each of the peripheral fibril in it is a triplet

(4) They are responsible for formation of

spindle apparatus in plant cells

Statement 1 : Meiosis occurs in haploid cell of
organism.

Statement 2 : Mitosis in ‘plants can occur in
haploid and diploid cells both.

Statement 3 : ER, Golgibody and nucleus are
not observed during metaphase and anaphase.
Option :-

(1) Statements 1, 2'and 3 are correct
(2) Statements 2 and 3 are correct

(3) Statements 1 and 3 are correct

143.

144.

145.

146.

T O U shed sk o foTu feRamamT qen
SHATT: B aredfl T3l & fore @) foehew i
T HL ;-

(1) TS, 4 ST, 3 CO, FeheT

(2) UTIEf 37, 4 HA'ferreRtor, 3 CO, fararT
(3) UTIEfa 37, 3 SAferaRtor, 2 CO, et
(4) TRl Co-A, 4 AtferaRr, 2 CO, FeerT

= & & 9 @ afg emi a Y e § et @
TR SHAETdT & ;-

(1) 3Atfoaa 2) fresitfer
(3) TRAHENT (4) st
et 5 9 i IR o fTT EE © 2

(1) Th AR & SHI dRehshessh Tsh GO o
AT B &

(2) T& WHRANEH HIRTRT T IR 6
ST 1 510 8

(3) H Sk TR e ek g &

(4) I UIQY HIREHISAT § q ITHT 1T %
e sTerf g @

O | : STt TG ST RIS 6 B

2

YA 2 : AUl H GHEAUT ST qr ferford i

RIS H &1 ThalT 2|

FUT 3 : ER, ToSiIohT qAT sheseh HEToET 9
TLTIET 3 SR fe@Ts 7€ 3 2|
foreped -

(1) HIF1,2qa13 G2
(2) HAT2qAT3 TR
(3) YT | qAT3 R

(4) Only statement 2 is correct 4) Fad HIYT 2 TE
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147. Identify the incorrect option :-
Class Fungi Informations
. Imperfect
(1) | Deuteromycetes | Alternaria .
fungi
(2) | Basidiomycetes Agaricus Mushroom
(3) | Phycomycetes Albugo Smut
(4) | Ascomycetes Penicillium | Antibiotic
148. In which of the following ploidy is correct :-
(A) Protonemal cells of moss (n)
(B) Prothallus of fern (2n)
(C) Gemma cells (n)
(D) Ovum of liverwort (2n)
(E) Leaves of moss (n)
(F) Zygote of fern (2n)
(1) A,C,Eand F
(2) B,D,Eand F
3) A,B,DandF
(4) C,D,Eand F
149. Which is the most ecologically relevant
environmental factor :-
(1) Humidity (2) Light
(3) Water (4) Temperature
150. Choose the correctly matched one :-

(1) In-situ conservation - National park
(i1) Ex-situ conservation - Sanctuary

(iii) Hot spot - Indo-Burma

147.

148.

149.

150.

Terd ferehed =t TR -
it Fa® LRLY

1) | sFemTEHfes Waﬂmﬁ
(<3 « FaHh
() | sfufestmreeifest | sriftpg | avrew
(3) | FIEHETEEIRS | TosgTl FUE
(4) | wenmgEieST | gffarforem | wikisifae
T 3 @ fopreht 71T Biet 2 -

(A) ATE ST T FHILTRT (n)

(B) %+ T T1TE (2n)

(C) =T FITRTHI (n)

(D) feTawad =1 3108 (2n)

(E) T\ =t afe™t (n)

(F) %+ 1 IS (2n)

(1) A, C,E3RF
(2) B,D,E3RF
(3) A,B,D3F
(4) C,D,E3RF

HH TRufaes &0 @ 999 SgEr s
TR h1Th & -

(1) s 2) v
(3) S (4) dm@HEE
e T et o -

(1) T AT TLET - TS e
(ii) STTEI-TAT TR - STEIRIT
(iii) TH TAA - F-er-amt

Option :- forerey -

(1) i, i, ii (2) Only ii (1) i, i, ii (2) Fad ii

(3) iand iii (4) ii and iii (3) i3 i (4) ii 3 iii
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SUBJECT : ZOOLOGY

Topic : Full Syllabus

SECTION-A g us-A
Attempt All 35 questions it 35 o A §
151. In which of the following disease pathogen 151. 30T 5 & 98 T | TR 1ok 37T 48 99 i
affects nose and respiratory passage but not the Tohfird hd 8, Sifeh et ot e
lungs ?
(1) Pneumonia (2) Common cold (D) a@ﬁm (2) € S[hH
(3) Both(1)and (2) (4) Malaria (3) ()TATQ)IAT  (4) TATEm
152. Which of the following statement is false ? 152. T3 H O I9HT YT ST 22
(1) PMNL - neutrophils are included in the (1) PMNL - W@ﬁﬂ, CAMEIR R R Kt
cellular barrier of innate immunity 2
(2) In spleen, immature lymphocytes are (2) T T saftes Fiﬁlﬁv‘lﬂl, BISEERELE N
converted  into antigen  sensitive Flﬁlﬂw‘l’ulﬁ 7 fofea g 21
lymphocytes (3) Ao HEAN aTAT U7 g8H ITeel H
(3) The property called metastasis is the most WWTTT%I
feared property of malignant tumors (4) SN FS Raener o Sifetest &
(4) These days cannabinoids are also being SEQTPFT‘OF{%%I
abused by some sports persons
153. Which of the following is found among | 153. M#F # & HT@ FTRAAYA & @Y
biomacromolecules fraction but it is not a g SAr @ ‘I{T@ Ig JafH SIS Bk
biomacromolecule :- 2
(1) Protein (2) Lipid (1) 9= (2) F&r
(3) Polysaccharide . (4) Nucleic acid 3) qIfTEHES 4) Wﬁﬂ'@ﬁ A
154. Which of the following secondary metabolite 154. =1 @ 9 Fiar f5dias sum=rs JH “Sgeich
pair represents "polymeric substances":- TETIT” T EIMAT & -
(1) Ricin and Abrin (1) fofem qemufsm
(2) Morphine, Codeine (2) W%, SifeT
(3) Rubber, Gum (3) TR, e
(4) Rubber, Glucose €)) W,’Qﬂﬁﬁ
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155.

156.

157.

158.

159.

ALLEN

A nucleotide has three chemically distinct
components. Find out, which is not a part of
nucleotide.

(1) Heterocyclic compound
(2) DNA and RNA

(3) Monosaccharide

(4) Phosphoric acid

A layer of uterus exhibit strong contraction

during delivery of baby is :-
(1) Endometrium (2) Myometrium
(3) Perimetrium (4) (2) and (3) both

Which of the following hormone is responsible

for ovulation :-
(1) Progesterone (2) Oestrogen
(3) Oxytocin (4) Relaxin

What is the main cause of start the menstrual
bleeding.

(1) Low level of progesterone and oestrogen
(2) Low level of FSH and LH

(3) High level of progesterone and oestrogen
(4) Low level of oxytoxin& relaxin

Which of the following statement is incorrect
for Saheli Pill :-

(1) It is a non-steroidal preparation
(2) Itis a once a week pill
(3) It's developed by CDRI, Lucknow

(4) It contain progesterone alone or in a

combination with oestrogen

155.

156.

157.

158.

159.

T [FereTEs THrEE &9 § i iR e
& AT 81 J1q KSR T T ek ferierss
T W 781 2

ORELCEEIREIINES

(2) DNA 9T RNA

(3) AHIEHTES (Thet T
(4) HIERINE T

TN A W SR S o S e e
TERid AT R TR -

(1) ey (2) HEWLEH
(3) wmdEm (4) (2) @1 (3) AN

1 o @ ST g SAveEicat & fod fSeier
2l

(1) TSR (2) TEINH
(3) AffFerET (4) Tafee

HIeR =5 % G h W1 TF B % fordl 7
T 2

(1) ISR SR $EISH o1 e T
(2) FSH 4 LH @l e &

(3) TS I FEIISH ol 329 &

(4) Atfereere it ftferm &1 fm =X

1 § @ et Fud 'Rt Ml & fod
I R

(1) 98 Uk R-Retsed &9 8 4R 2|
(2) I Uk HTHIE et 2]
(3) 39 CDRI @3 4 99 {1 2|

(4) AW TSI 3Tehall YAl SEEISH & a1Y
A § BIaT 2
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160.

161.

162.

163.

164.

165.

ALLEN

Which of the following is an occupational

respiratory disorder :-
(1) Emphysema

(2) Anthracis

(3) Fibrosis

(4) Botulism

Value of tidal volume is :-

(1) 150 ml (2) 350 ml
(3) 500 ml (4) 1500 ml
Serum is :-

(1) Blood - Plasma

(2) Blood - Blood cell
(3) Blood - RBC

(4) Plasma - Fibrinogen

The hepatic portal vein drain blood to liver

from :-
(1) Kidney (2) Spleen
(3) Heart (4) Intestine

The intercellular material of cartilage is :-
(1) Solid and pliable

(2) Hard and non pliable

(3) Solid and non pliable

(4) Hard and pliable

The wall of alimentary canal from oesophagus

160.

161.

162.

163.

164.

165.

faefafaa & 9 e a9 fosr 1 Seen
22

(1) araehifa

(2) TR

(3) wrEsita™

(4) Sgfersm

ST 3T T AT BT R -
(1) 150 ml (2) 350 ml
(3) 500 ml

H g -

(1) T - wATSHT

(2) TF - T 3T
(3). T - TSA BIEO]
(4) TATSHI - FIETSHSH
Feha farfeenn R g oshd o e el @ S1rar
2l

(4) 1500 ml

(1) IFh (2) e
3) &&= (4) 3=
TRy T STArehIfaTeh uared Bar & -

(1) 3 3 A (pliable)

(2) HIW T SR (non pliable)

(3) 3E SR SR (non pliable)

(4) HIW R AT (pliable)

AR H R H U @ AN

to rectum possesses layers :- deh TR -
(1) Two (2) Three (1) a (2) o
(3) Four (4) Five (3) IR (4) U=
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166.

167.

In the given diagram A, B, C and D are

respectively:-

(1) A =Incisor, B = Canine, C = Premolars,
D = Molars

(2) A = Incisor, B = Canine, C = Molars,
D = Premolars

(3) A =Premolars, B = Molars, C = Canine,
D = Incisors
(4) A = Molars, B = Canine, C = Incisors,

D = Premolars

A B

Which one is correct for A and B respectively :-
(1) Both are permeable for water
(2) Both are permeable for NaCl

(3) A is permeable for water and B is

permeable for NaCl

(4) A is permeable for NaCl and B is
permeable for H,O

167.

s\* )/ ~

-

famfamd A, B, C 3 D shuem: 2 -

(1) A = %ad%k, B = @&k, C = JTTIH,
D = 99U

(2) A = %d%, B = IqIH, C = I,
D = JAYIIUH

(3) A = AT=EUH, B = FdUeh, C = &,
D = %dsh

(4) A = 9940TH, B = 19%h, C = HdH,
D = ATIIIH

A 3R B & fIu st 9= R -
(1) T ST o foTe e 2|
(2) THT NaCl & fofe qrom=r 31

(3) A 91 & fAT AT B NaCl & qIOTeEy
2l

(4) A NaCl % faT 3ft B H,0 & fo¢ grom
2l
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168.

169.

170.

171.

ALLEN

Inflammation of joints called :-
(1) Arthritis

(2) Myasthenia gravis

(3) Tetany

(4) Osteoporosis

Between and

carpal metacarpal  of

thumb__ joint present :-

(1) Ball and socket

(2) Hinge

(3) Pivot

(4) Saddle

Early Greek thinkers thought units of life called

spores were transferred to different planets
including earth. This statement belongs to
which theory ?

(1) Oparin Haldane theory

(2) Bigbang theory

(3) Cosmic panspermia theory

(4) Abiogensis

Fore limbs of whale, bat, cheetah and humans
share similarities in pattern of bones of fore limbs.
Hence in these animals same structure developed

along different directions due to adaptation to

different needs. This evolution is called ?
(1) Divergent evolution

(2) Convergent evolution

(3) Co-evolution

(4) Natural selection

168.

169.

170.

171.

SIS T INY FHEATAT B -
(1) emeftsien

(2) wrgEafaT fem
(3) AUATIhT

(4) TRAIRIRE

TSk FHA N Fewnd F @y
BT 71

(1) e Gfceeteht

(2) ol

(3) g

4) ¥

qd Ui fa=rtehi &1 7T or 6 S &
T TS s geel |fed faf=s usl o
EAAFART g5 I8 FU9 h9 fagra @
gafud 2|

(1) M Tee fagra

(2) fomr s fagra

(3) ehifeHes YrEdfEr forgra

(4) ITSfrara Ssfareafd

s, IAMSS, =dl d A1 & AT hl
siftral & fa=ar@ & wuraar 2| 39 Stai #
fr=g-smavgwarenl ®g  @WA H@IEAQ
fy=q-fireq e & fawfya & srdt ) ==
3fgwra wearar 82

(1) var fasm

(2) AyETd foema

(3) wRfow™

(4) Spfcres T
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172. Which of the following bacteria is used in 172. =1 @ @ i \‘rﬁaTUQT TaefiStost ureat & Su=dt
genetic engineering to introduce gene of ST =l WA T % fT | Sraiien
interest in dicot plant :- ESIEDIEY ﬁw%mw% -

(1) Clostridium (2) Agrobacterium (D) Wﬁ?h%?m' 2) TR
(3) Bacillus (4) Pseudomonas (3) afirerg 4 ?23\3?77?717?7

173. To prevent the blindness associated with 173. faerfus A &t &t @ wrafua dgua ==
vitamin A deficiency, which of the following is & & fag 7 4 @ e 9 &t gare @
advisable :- STt 2
(1) Btcorn (1) BtHpT
(2) Soybean ORIRIEIE]

(3) Golden rice 3) Meed e
(4) Flavr savr tomato 4) TR Yot ST

174. Which technique can we used to separate DNA 174. foret Temtaer SAffsram § gfqse @?ﬁaﬁﬁ
fragment generated by the restriction TR 379 DNA ©el sl FRED L & forT et
endonuclease in a chemical reaction :- WW@WM% -

(1) PCR (1) 9=

(2) ELISA (2) TcdrgEr

(3) Gel electrophoresis 3) ﬁﬁ%ﬁﬁ@'ﬁf{ﬁ:ﬁ
(4) Spooling ) FQ;[\FFT

175. Protein encoded by CrylAc and CrylIAb genes 175. CrylAc Td CryllAb ST gmT REEES i
control cotton bollworm which belong to the HUTH HhA FHET bl FERE a8 S arata
order. BT -

(1) Lepidoptera (1) Afreeu &

(2) Coleoptera (2) FIfAAT T

(3) Diptera (3) feweuw

(4) Insecta 4) I
176. Select the economically important insect :- 176. 3t wﬁﬂ%@ﬁﬁzwwaﬁﬁq -

(1) Apis (2) Bombyx (1) ofeg (2) aifarg

(3) Laccifer (4) All of these (3) AIHET (4) SUH Teft
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E+H Space for Rough Work / Yt capkg fore snTE Page 45/52



177. Identify the animal :-
(1) Liver fluke (2) Male Ascaris (1) HUfhH (2) W T@RG
(3) Hirudinaria (4) Nereis 3) giefeman 4 0T
178. In both male and female cockroach, which 178. 9T US #Wier Il faa=9s # ffg @g 9t
segment bears a pair of jointed filamentous TFH S ﬁﬁTg?ﬁ aquaT T A ad
structures called anal cerci ? 22
(1) 8" (2) 9" 3) 10" @ 7* (1) 8" (2) 9" 3) 10" (4 7"
179. Select the incorrect statement regarding | 179. fa@=s & Hed # wad FIYT H =TI
cockroach:- ?ﬁﬁm -
(1) Blood vascular system is of open type (1) Wagﬁwwﬁm%
(2) Blood vessels are well developed 2) Waﬁmgﬁﬁﬁﬁﬁ%
(3) Visceral organs located in haemocoel are (3) ®fUTRET W Rud S S SRR
bathed in blood (haemolymph) (reTfei) § gol T&d 2
(4) Both (2) and (3) (4) AT (2) T (3)
180. (i) There are two pairs of testes present in the A and 180. (i) THATBTEESH 2 I ELRI Bd
B segments (ii) a1 SNl wergs Afafeed wfo™t, ¢ aur D
(ii) Two pairs of accessory glands are present one P RERCERE A R R RS I
pair each in the C and D segments ér—gz * 1%1@ A, B, C d@ar D F HHT:
Identify A, B, C and D respectively for earthworm:- qETI: -
(1) loth, llth, 6th, 9th (1) loth, llth, 6th, 9th
(2) 6th, 9th, 17th, 19th (2) 6th, 9th, 17th’ 19th
(3) 10" 11™, 18", 19™ (3) 10™, 11™, 18", 19"
(4) 10" 11™, 17", 19" (4) 10", 11%, 17%, 19"
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181. Hormone which acts on the melanocytes 181. EMH S ﬁﬁ'vﬁ'ﬁ'l%‘{&f (ﬁﬁ? Ith El-ﬁ'f?lﬁh‘r\'iﬁ) LS
(melanin  containing cells) and regulates foraefier grar @ Qe o= Y Fulekar @1 e
pigmentation of the skin is :- HATE -

(1) Melanocyte stimulating hormone (D) AHIETEE e g1
(2) ACTH (2) ACTH

(3) Growth hormone (3) ?{i:_&’BTﬁ'—f

(4) Prolactin 4) NINIEEE]

182. Which hormone stimulates milk ejection from | 182. HIETST ¥ Hi=dT BTHA Bl Hfern & 3 & R
the mammary gland in females ? T IR AT 2
(1) Oxytocin (2) Vasopressin (1) edierd= (2) IWAfET
(3) Prolactin (4) Both (1) and (3) (3) WA (4) (1)TT (3) 31

183. (A) Stunted growth (B) Mental retardation 183. (A) UM Ihg (B) Hedlfs
(C) Abnormal skin (D) Deaf mutism (C) =T JFAFHIAT (D) qc'fﬁﬁlﬁ'{_cﬂ
Select the correct option related to above P feu mm T h e wEt foeeea =1 ==
mentioned features :- ‘cﬁﬁ'q -

(1) Goitre/Hypothyroidism (1) TeTie/3TgATSUSSdl
(2) Cretinism/Hyperthyroidism 2) forefsm/eAfaemstisean
(3) Goitre/Hyperthyroidism (3) Tere/AfqeUTIgSdT
(4) Cretinism/Hypothyroidism (4) TeRefosw/eraurstisean

184. Inside the internal ear, above the rows of the 184. 3Ad =0l & ST, it o A ISRt
hair cells in cochlea is a thin elastic membrane CIER) % IR qqcl] ddie free gt ] S
called :- FETdT 2-

(1) Basilar membrane (1) YR fareeh

(2) Reissner's membrane (2) RESERE ST

(3) Tectorial membrane 3) TFATES fareet

(4) Both (2) and (3) (4) (2) W& (3)3MT
185. Space between the lens and the retina is called :- 185. i NI o ofiwr o Tk T ol hed ©:-

(1) Aqueous chamber (2) Vitreous chamber (1) S g (2) HTETT FHE

(3) Anterior chamber (4) Posterior chamber (3) IWHE (4) 9T FHY
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E+H Space for Rough Work / Y% cav ks ﬁnz KU Page 47/52



ALLEN

SECTION-B A
This section will have 15 questions. Candidate
can choose to attempt any 10 question out of
these 15 questions. In case if candidate attempts
more than 10 questions, first 10 attempted

L questions will be considered for marking.

186. Which pair is not matched correctly ?
(1) Amphetamine — Cannabinoid
(2) Heroin — Diacetylmorphine
(3) Ganja — Cannabinoid
(4) Cocaine — Erythroxylum Coca

187. Read the following statements carefully and
find out pair of statements which are not
correct :-

(a) Some secondary metabolites have
ecological importance
(b) NaCl, CaCO,;, PO,, CH;COOH, CH, etc
are inorganic constituents of living cell

HOCH, Uracil
(@) is a nucleoside as well as

OH OH

found in RNA along with phosphate
(d) Secondary structure ~of proteins is
absolutely necessary for the many biological

activities of proteins
(1) ab  (2) bje (3) ¢,d (4 db

188. A foetal sex determination test based on

chromosomal pattern is :
(1) X-Ray

(2) Ultra-sound technique
(3) Amniocentesis

(4) C.T. Scan

-

TGS T 15 97 81 waEmeff 37 15 v 0 A A
Y 10 v X Gehar 21 AfS wheeff 10 & Aftrem wx
1 I 3T & A & TR gU I 10 W & A=

T 'E-B )

Bl
\ J
186. 1T T FHlTd el 87
(1) TheHiT — FATleMIEE
2) fetigT - seufafea arwla
(3) TSI — HATfHIES
(4) T — TRYISTIEAT FHibHT
187. W¥T FYA H €AYEF TgHT I LA
#1999 FifST S g T 2
(a) O fGdia® STAAAST 1 TR i
¥ wged arar 2|
(b) NaCl, CaCO;, PO, , CH,COOH,
CH, =nft sifag =it & srwafa=s
qTH Bl
HOCH, Uracil
(¢) % YA &
ol OH
HI-TT RNA H SEHTIFH & d 9047
STaT 2l
(d) W i Afaw Graren F T wdT
# fgdras g Fqid sravas ad 2
(1) a,b  (2) b,e (3) ¢,d (4) d,b
188. TUTEE SI&HT o SATUR 9T U7 o Tt Fefeor i

TR & :-

(1) X-Ray

(2) IATL-TISTE T
(3) Ve

4) AT
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189.

190.

191.

192.

193.

ALLEN

Oxygen dissociation curve shift to right when :-
(1) pH increase

(2) pO, decrease

(3) Temperature decreases

(4) pCO, decrease

In diastole, the heart is filled with the blood.
This blood is :-

(1) Oxygenated blood

(2) Deoxygenated blood
(3) Partial oxygenated blood
(4) Venous blood

The inner surface of hollow organs like

bronchioles and fallopian tubes are lined by :-
(1) Simple squamous

(2) Simple cuboidal

(3) Brush border cuboidal

(4) Ciliated epithelium

Find out the correct statement :-

(1) Saliva is mainly produced by three salivary glands
(2) Salivary glands situated just outside the buccal cavity
(3) Liver is the largest organ of the body

(4) A bony flap called epiglottis prevents the
entry of food into the glottis

Minimum reabsorbtion occurs is :-
(1) PCT

(2) DCT

(3) Ascending limb of LOH

(4) Decsending limb of LOH

189.

190.

191.

192.

193.

TR IS feriSIT a5k TRt o ot faeened 21
(1) pHEGH ™

(2) pO, FF T W

(3) YA B T

(4) pCO,FH EH W

e % TT e TH T M| T TH & -

(1) el =

) fasitedsfa

(3) 3if3TeR STt
4) s

QEd 3 S gEfent qon fesafe-d i dfiad
g AN &l © -

(1) T ITehl

(2) T TATHR

(3) ST SITET TR

(4) gEmTT U

HE B A I -

(1) &R = fmior i Te grr e R
(2) TR e Tt % arex ford gt 2
(3) T IR HT TTH ST T 2

(4) ARYSA GFF, GO T TS & JIIT I
REIRS

IAAH TRIERITOT 21T &:-
(1) PCT
(2) DCT
(3) LOH I 3R o[~
(4) LOH 3T 3TaIet i
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194.

195.

196.

197.

ALLEN

Fitness according to Darwin is :-

(1) Physical fitness

(2) Reproductive fitness
(3) Ability to obtain food
(4) Ability to run fast

Read the following statement about insulin and
choose the option that correctly fills the blank
X and Y:-

(a) Insulin consist of two short polypeptide
chains : Chain A and B that are linked together
by X bonds

(b) The proinsulin has an extra peptide called

Y

X Y
(1) Disulphide  E-peptide
(2) Hydrogen  C-peptide
(3) Disulphide  C-peptide
(4) Hydrogen E-peptide

Among the following, which is not a
component of downstream processing ?

(1) Preservation
(2) Purification
(3) Separation
(4) Culturing in bioreactors

The characteristic feature of the intestine after
26" segment except the last 23" - 25™ segments
in an earthworm is the presence of internal

median fold of dorsal wall called :-

194.

195.

196.

197.

<Tfef 3 FTER AT 2

(1) Sifees Jrar

(2) S AT

(3) ST 9TH S ShT T

(4) AT e Y T

g % dedf § frfafad st &t afew qen
i T X T Y 1 T ®9 § 9 ared fasheq
T T FHITST: -

(a) 3G A1 DI AAULES WA, 2@ar A
TS B ST AT § S X Sl g U qEl o
S Bt 2

(b) MEFAT H Y e Tk Ak Terss
EIEE IR

X Y
(1) STEUTHES  E-U2ES
Q) FEEST  CUwIsS
(3) SEUTHEE  C-UwEE
(4)TEEISH  EUERS

FERad § § S SIaTe §9rEd 1 T
THeH T © 2

(1) gieor

(2) IMeA

(3) TR

(4) SEINTFT ol

Q| 3 A1 [fRTE 107 2697 @ % A1e qur
AT 23 | 25 @UES] il BISHL 317 I I8 Hag §

ATafer g, Tfays o1 9 A 2, S T
B

(1) Intestinal caccum (1) JEA-IEHATA

(2) Typhlosole (2) A

(3) Lymph gland (3) et Tty

(4) Gizzard (4) Uyoft
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198. Unsegmented body with distinct head, 198. yd@fed i fSad i, Ui 91e qor w fadm

muscular foot and visceral hump is seen in :- Elw_glj'Tc\'%Pl?lT%, @ i e &:-
(1) Pila (2) Ascaris (1) grgar® (2) TESRTH
(3) Cucumaria (4) Both (1) and (2) (3) FFHRATH (4) AT (1)qeT(2) |

199. Identify the gas filled in cylinder found in | 199. TeddTr # Wh forr # gwniy 7q fafoiet # i
hospital shown in image ? T ol Bt 22

f Ay by Ny LR N

(1) Oxygen (1) eSS
(2) Nitrogen dioxide (2) TSN STESHTHTES
(3) Ether (3) R
(4) Hydrogen sulfide (4) TESISH HTHITS
200. Which of the following is an inactivated whole 200. T § ¥ SiHET T hifag 19 T o fow Mt
pathogen vaccine for Covid-19 disease ? ﬁ?a@w fl’IIUoI Tt S B 2
(1) Vaccine developed by oxford university (I) a8 St ATwie fagfaene g fasfea di
(2) Vaccine developed by Astrazeneca e @
(3) Vaccine developed by Bharat Biotech and (2) = Rl &t H eI
ICMR (3) 98 T S 9RA e adr ICMR g7
(4) Vaccine developed by Johnson & Johnson AR
(4) I8 JFET S ST U e g foemfea
EARIER]
SAMPLE PAPER # 04 1001CMD302122004

E+H Space for Rough Work / Yt PP ﬁl'[{ ST Page 51/52



Space for Rough Work / % &Td & forg siire

9‘
~V,
| '

| SAMPLE PAPER # 04 1001CMD302122004
Page 52/52 E+H




